® 12



vl

Os 3w A

flo
ftlo

B 1297

@ -5x% +3x-2 9] 3+& 542, 3x, 2 o]t}

@ 3x-2y-5 oA 2 -5 oJt}.

® 2x2 — 3x + 4 — 2x2 -2 AzpA o]t}

@ xx <—%y> 449 e 3 Aol

® 2x—-4y-3 oA x 2y o A59 F& 8§ oltt.



Alax? -3x+7-6x2+5x+1

5

o

3.

® 3 3 1

@D 6



ohe [Rrel Solzr ke 4. 2wy

[+ 6x-2)=7x+11

@ 2x+13 @ 2x+11 ® 2x+9

@ 12x + 13 ® 12x+ 11




@ (5
® -8

St ax+b O] HE Y

ot

pit

KX
=



6. olw

A thdAel 4x - 3 & HefofF & A ARShA MY —5x + 7
o] =3l

ot o] uf, vt A Aste At 75Ha?

@x—l—l @3x+1 @x—?,

@ 3x-3 B Tx+1



1000 Y #He] D5 oo gk Ao 300 she FE I} gF Ao 150
W dote] BF 14455 YAl 4000 Y& A=l
AL EWS 77t E AR 4] A YR Gdeti? (B AL
]
BA

D 10, 4 @ 8, 6 3 6, 8 @ 4, 10 ® 2, 12



T ol AT FHOE AUAS Bol L uf, x T
& 2 ?

agAy  egAD @AY <zDAD

D 3x+2 @ 3x+3 B 4x+2

@® 4x+3 B 4x+4



Melda, b, coAl ot a-2=b+4,c>0 < M, & 5 32
2L

@ a+6=0>b @ a-b+c=c+14
® ac—bc = —-6¢ @® a-c=b-c+6
o at3 _b=9

C C



b
© 1—x3 — b- 9

x—=2

@ 2(a-x)

@ =10 3 -15 @ =20 3B =25

@D -5



X

4

(3-a)



@1
® 17} gt



13.

o8 A& ok o ob Al 14 %, oFE-2 28 Uol ARk Tk,
o] P& obFo] 4 U Ft g Fol o] S o 2|7} 4] Hysteln
T o, ob¥l AL 1 Fot AL ok sHe7H?

@D 4 2 6Y B 8¢ @ 10 ¥ e 12 A



14.

A7o] 4 A9k 5 A] Apelel 91, A7 2

“FobH?
5 11
4 A = 4 A 53—
@) ]53§ @ ]53163
4 Al 54= B 4 A 54—
@ 154 ® ]511



15.

Fol7t Hef A Esto g
212 BFH S A7 10 B Zof =25t A]A 120km 2 ﬂﬂL
EfH 51 AlZF 5 B o) gkt

=

=
AE
?

EN
_>|:
ol
1oL
El
N
>,
19 4
N
or

rr 12 oft fx

@ 40km @ 50km ® 60km
@ 70km 3 80km



